Pythagoras and Basic Trig

	1.
	
	Which of the following are the lengths of the sides of a right-angled triangle? 

	
	a)
	3.5m, 4.5m, 6.5m 
	
	b)
	24cm, 10cm, 26cm

	
	c)
	30m, 40m, 60m
	
	d)
	13cm, 7cm, 8cm


	2.
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Look at the above right-angled triangle. Find as a decimal, the value of: 

	
	a)
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sin


	
	b)
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tan



	
	c)
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cos


	
	
	


	3.
	
	

Look at the above right-angled triangle. 

	
	a)
	If cos 60º = 0.5, find the length of side x.

	
	b)
	Find sin 30º.
	
	
	


	4.
	
	


Look at the above isosceles triangle. Find:

	
	a)
	The perpendicular height of the triangle.

	
	b)
	The area of the triangle


	5.
	
	Draw a right-angled isosceles triangle

	
	a)
	Use your diagram to explain why tan 45º = 1.

	
	b) 
	What is cos 45º ?  [Leave the √-sign in any calculations]

	
	b) 
	What is sin 45º ?


	6.
	
	Below are the lengths of the two shorter sides of a right-angled triangle. Find the length of the hypotenuse.   

	
	a)
	12 cm and 16 cm
	
	b)
	15 cm and 8 cm


	7.
	
	Below are the lengths of the two longer sides of a right-angled triangle. Find the third length.   

	
	a)
	12 cm and 13 cm
	
	b)
	25 cm and 24 cm


  x











100 cm





10 cm





  8 cm





  6 cm





 60º





 10 cm





       10 cm





  12 cm
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